
ADJUST BALANCE ON THIS OR OPPOSITE LINK

MAKE ALL LINKS TO 60mm
FOR ASSEMBLY 

5

1 of 1 

CLF1-WEB -  LINKAGE KIT FLAT - PORSCHE

Version:

© JENVEY DYNAMICS LTD. 2015

Frame:

Web WWW.JENVEY.CO.UK

Tel 01746 768810 

Engineered to win

M5X25

M5X25

USE LOCTITE
243

SPRING

SPRING GUIDE

CLF1-2

SPACER 8X5X3

M5 WASHER x12.7

SPACER 8X5X14

CLF1-4

M6 ADJUSTER

M35-11

M5X16

CLF1-1

M5X35

M5X16

SPACERx9.5

SPACERx9.5

CLF1-4

M5 NYLOC

5mm ROD END

M5 NYLOC

M5 WASHER

M5 WASHER

M5X16

M5X30

M5X16

M5 WASHER x12.7

M5X35

M5X25

M5 NYLOC

M5 NYLOC

BALL JOINT

Ø8 BALL 

LH BALL JOINT

M5 LOCK NUT

M5 ADJUSTER ROD

M5 LH LOCK NUT

SPACER 8X5X3

M5X25

M5 NYLOC NUTS

CLF1-3

USE LOCTITE
243


